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Can you find out who got a Nobel Prize at the age of 75?

1. Blackburn is 5 years older than the person awarded for 4. The Israeli laureate is 5 years younger than the person who

Literature. got a prize for Economics.
2. Among Yonath and the lady who was 75, one is from the 5. The chemist was not 61, nor Australian.

USA and the other got a prize for Chemistry.

6. The German wasn't 75 and Muller is not Israeli

3. The Australian laureate is not Ostrom. Neither of the tWo 7 Ostrom was 75 or she is Israeli however she wasn't

was 56 years old. awarded for Literature
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Can you find out who got a Nobel Prize at the age of 75?

1. Blackburn is 5 years older than the person awarded for
Literature.

2. Among Yonath and the lady who was 75, one is from the
USA and the other got a prize for Chemistry.

3. The Australian laureate is not Ostrom. Neither of the two
was 56 years old.

4. The Israeli laureate is 5 years younger than the person who
got a prize for Economics.

5. The chemist was not 61, nor Australian.
6. The German wasn't 75 and Muller is not Israeli

7. Ostrom was 75 or she is Israeli, however she wasn't
awarded for Literature
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8 Israel x x x x x x
usa | X | X | X X X | X
Age Field Countr
Chemistry X | X X J Y
Blackburn 61 yeaws Medicine Australia
- Economics | X X X
] Muller 56 yeans Litenature Germany
L Literature X X | X
Ostrom 75 yeata Economica USA
Medicine | X X | X .
Yonath 70 yeaus Chemi sty I3naed
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